25. Labour Turnover
1. Missing words
Labour turnover measures the percentage of a firm’s _______________ that leaves the firm in a one year period.  It is calculated by the formula: number of staff leaving per year/average number of staff X 100. So a firm that employs 20 people, 2 of whom leave in a 12 month period have a ________________ _________________ of 2/20 X 100 which equals 10%. 

If labour turnover is increasing year upon year, this could be a sign of dissatisfaction within the workforce, poor __________________________ and _________________________ procedures or below industry average __________________ levels.        Hint: labour turnover, staff, wage, recruitment, selection 

2. Identify whether the following causes of increased labour turnover are internal or external. 
2.1 Better transport links making a wider geographical area accessible by workers
2.2 Ineffective leadership
2.3 A poor recruitment and selection process
2.4 More vacancies arising in the local area 
3. Calculations. Bags and Bags Ltd has the following information on its personnel function: 
	
	2015
	

2016

	Output
	22,480
	22,560

	Average number of workers
	250
	280

	Number of staff  leaving the firm
	18
	27

	Average sick days per worker
	4
	8

	Quantity of waste material
	450
	550


3.1 Calculate: 
a) Productivity for 2015 and 2016

b) Labour turnover for 2015 and 2016
3.2 Explain two possible reasons for the changes in productivity and labour turnover from 2015 to 2016. 
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
4. Explain why. 
4.1 A firm may be concerned about an increase in labour turnover. 

______________________________________________________________________________________
4.2 An increase in labour turnover may not necessarily be caused by poor management.
______________________________________________________________________________________
______________________________________________________________________________________
25. ANSWERS – Labour Turnover
1. staff … labour turnover … recruitment … selection … wage 
2. Identify whether the following causes of increased labour turnover are internal or external causes. 
2.1 External
2.2 Internal

2.3 Internal
2.4 External
3. Calculations. Bags and Bags Ltd has the following information on its personnel function: 

3.1 Calculate: 

a) Productivity for 2015 and 2016



2015: 22480/250 = 89.92

2016 : 22560/280 = 80.57

b) Labour turnover for 2015 and 2016
2015: (18/250) * 100 = 7.2%

2016: (27/280) * 100 = 9.6%

3.2 Possible answers include. 

· A fall in the level of motivation due to a change in leadership
· A fall in the level of motivation due to the increase in the size of the business (number of employees have increased). 

· A change in the culture of the business following the increase in number of staff, leading to a less efficient/conscientious culture. 

4. Explain why. 
4.1 A firm may be concerned about an increase in labour turnover. 

It may signify dissatisfaction amongst staff – more staff leaving suggest more staff are unhappy. Furthermore staff leaving increases training and recruitment costs. 
4.2 An increase in labour turnover may not necessarily be caused by poor management.

It could be caused by external factors such as changes in local employment levels, or changes in infrastructure. 
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